
>CPSC
>EN 1176

1,50m

 1
50

0 

 5
0 

 1
50

0 

 4
20

 

 1
50

0 

 8
00

 

BM

CCS

OM

ToB 2017-03-30 3

MA42075020
 1 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair ladder 1,5m
HAGS



1

3

5

7 13 12 6

6 12 14 7

11

10

4

BM

CCS

NR. Description MA Item Number Qty

1 559 x 1427 mm 8061000 1

3 541x498 mm 8013163 1

4 938x498 mm 8009700 1

5 620x121x21 mm 8013165 1

6 Cap 8, Ø27x12 mm 8005956 4

7 Cover 8, Ø18x10mm 8005958 4

10 Screw, ISO8677-M10x50-8.8 8039294 2

11 Nut, ISO4032-M10-8 8008777 2

12 Washer, Bolt cap 9x18x2-ISO4759-3-C 8008849 4

13 Screw, ISO4014-M8x40-8.8 8008349 2 ToB 2017-03-30 3

MA42075020
 2 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair ladder 1,5m
HAGS



1

10

3
5

4
2

2
4

6
3

9

OM

NR. Description MA Item Number Qty

1 559 x 1427 mm 8061000 1

2 Cap 8, Ø27x12 mm 8005956 4

3 Cover 8, Ø18x10mm 8005958 4

4 Washer, Bolt cap 9x18x2-ISO4759-3-C 8008849 4

5 Screw, ISO4014-M8x40-8.8 8008349 2

6 Nut, ISO4032-M8-8 8008770 2

9 Expansion anchor M8x71 HDG 8008557 3

10 531x150 mm 8013179 1 ToB 2017-03-30 3

MA42075020
 3 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair ladder 1,5m
HAGS



 460  =  = 

 4
0 

Ø9mm

420994/MA450994

2x

2 3

WOODEN DECK

1

4

2x

HPL DECK

NR. Description MA Item Number Qty

1 Screw, ISO8677-M8x45-8.8 8051445 2

2 Washer, Bolt cap 9x18x2-ISO4759-3-C 8008849 2

3 Nut, DIN986-M8-8 8008753 2

4 M6S 8x16 mm 8008340 2 ToB 2017-03-30 3

MA42075020
 4 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair ladder 1,5m
HAGS



2x

ToB 2017-03-30 3

MA42075020
 5 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Stair ladder 1,5m
HAGS


	Sheet1
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39

	Sheet2
	Drawing View4
	Detail View  (2 : 7)
	Detail View  (1 : 5)
	Drawing View40

	Sheet3
	Drawing View45
	Detail View A (1 : 4)
	Detail View B (1 : 4)

	Sheet4
	Drawing View7
	Drawing View55
	Detail View D (1 : 2)
	Drawing View59
	Drawing View61

	Sheet5
	Drawing View20
	Detail View  (1 : 2)
	Drawing View51
	Detail View  (1 : 2)
	Drawing View53
	Detail View C (1 : 2)


